Examen final MAT 2784 A Final Exam

Durée: 3h Time: 3h

Place: GYM F Place: GYM F

15 décembre 2009 15 December 2009
14h-17h 14:00-17:00

Prof.: Rémi Vaillancourt
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Instructions:

(a) A livre fermé. Tout type de calculatrices autorisé.
Closed book. All types of calculators are allowed.
(b) Répondre sur le questionnaire. Réponses numériques dans les boites.
Answer on the question sheets. Fill-in boxes with numerical answers.
(c) Les 8 questions sont d’égale valeur.
All 8 questions have the same value.
(d) Donner le détail de vos calculs. / Show all computation.
(e) Il y a deuz pages de tables d la fin du questionnaire.
A two-page table is at the end of the questionnaire.
(f) Tous les angles sont en RADIANS. Tester et ajuster votre calculatrice.
All angles are in RADIAN measures. Test and adjust your calculators.

sin 1.123456789 = 0.90160112364453
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Qu. 1. Résoudre le probléme & valeur initiale. / Solve the initial value problem.

(2z%y — 2y + 5) dz + (22° + 2z) dy = 0, y(1) = 0.
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~ Qu. 2. Résoudre le probléme ¢ valeur initiale. / Solve the initial value problem. -
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Qu. 3. Trouver la solution générale. / Find the general solution.

y//_2y‘/__8y N 6496.
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Qu. 3. Trouver la solution générale. / Find the general solution.

4z

y' =2 —8y=zx—c¢




Qu. 4. Résoudre / Solve :
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Qu. 5. Tracer la fonctions et trouver sa transformée de Laplace.

Sketch the graph and find the Laplace transform of the function. :
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Qu. 6. Résoudre par transformation de Laplace. / Solve by Laplace transforms.

Y+ 2y + 5y = §(t — 3), y(0) =0, /(0) = 1.
n.b.: L{6(t — a)}(s) = e, | .
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By Richardson, extrapolate f (

Qu. 7. Soit / Let f(x)

Par Richardson, extrapoler

M(0.2) = N(0.2) = o~ [f(2

lH .\ml*“

N (0.1) = N(0.1) =

o
o

Ensuite / Next
N1(0.1)

[f(2.

N1(0.05) = N(0.05) = 0—1—1 [£(2.05) — f(1.95)] =

— Ny(0.2)

z

obtenue par différence centrée avec h = 0. 2,0. 1 0.05.

obtained by central difference with A = 0.2,0.1,0.05.

2) -
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F(18)] =
- £(19)] =

GO, DoOsIge?

59, 38365 181

S9,18019¢7y

NQ'(o.z) = N,(0.1) + . =159, 1)) 3609
N3(0.1) = N1(0.05) + Nl(O‘OS);Nl(O'l) =139.,1] 23¢ /02
Enﬁn / Finally
N3(0.2) = Ny(0.1) + N2(0.1)1—5N2(0.2) =59, 124485

Calculer f /<2) ezactement et vérifier que N3(0.2) est exacte a 6 décimales pfés :

. Compute f/(Z) exactly and verify that N3(0.2) is exact to 6 decimals:
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Qu. 8. | MATLAB 0de23 pour / for y' = f(z,y), y(zo) = ¥o:

ki = h’f(xna yn),
kz = hf(.'l)n + (1/2)h, Yn + (1/2)]@1),
k3 = hf(zn+ (3/4)h,yn+ (3/4)k,),
ks = hf(zn+hyn+ (2/9)k + (1/3)ks + (4/9)ks3),
Ynt1 = Yn + (2/9)k1 + (1/3)k2 + (4/9)k3’
avec estimation de l’erreur locale / with local error estimate:
5 1 1 1

pd

Compléter les 5 petites cases pour Véquadif et les 8 grandes cases & 6 décimales:

En+1 =

Fill-in the 5 the small boxes for the ode and the 7 long boxes to six decimals:

V=y'+2 -z, y(l)=1, h=0.1
Pour / For n = 0:

yo=| ! h=9!

fay) =Wt du - | g

k= 0,200000

ke=0 23 C 00O
ks = |0, 206 4 324
ks =|0,29244376

h = /1 2[‘//6257

Pour / For n = 1:
T = ’,l Yy = ,|2ql6967
k= O, 99244376




